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Contribution

To build a model where Knightian uncertainty generates a
"Flight to Quality" and a role for central bank intervention

I Novel mechanism that looks like �ight to quality episodes
I A central bank without informational advantage can help
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Model: No Knightian uncertainty

Continuum of ex-ante identical agents, 3 periods
Endowed with Z , storable at no cost
Complete �nancial markets,

Maximize
E0 [α1u (c1) + α2u (c2) + βcT ]

with αj 2 (0, 1).
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Event Tree: Aggregate
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Event Tree: Individual Agent
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Social planner�s problem
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and non-negativity constraints
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c0,noT = Z

Interesting case is when u0 (Z) > β =) c2,1T = c2,2T = 0
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Reduced social planner�s problem
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Event tree with Knightian uncertainty
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Planner�s problem with Knightian uncertainty

max
c1,c2
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With c1 > c2, θ will be at the highest possible value,
θ 2 [�K ,K ]
Thus

cKnightian1 < cNo Knightian1 and, cKnightian2 > cNo Knightian2

and for large K

cKnightian1 = cKnightian2 = Z
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Role for policy intervention

Paper assumes central bank�s objective uses di¤erent probabilities
than agents:

VCB =
φ (1)
2
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φ (2)
2
u (c2)+ β

�
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��
Central Bank�s Objective = Planner�s objective without
Knightian uncertainty!

Reallocation of resources from c2 to c1 will improve welfare
(de�ned this way)
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Comments

Central bank�s welfare criterion

I Agents would move to a country without this central bank!

Uncertainty about individual shocks or aggregate shocks?

How robust is the main mechanism to changes in the model?
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Model: 2 agents, stochastic endowments
Time 0 trade claims, time 1 get endowments and consume
Planner maximizes
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subject to

c1 + c�1 = yH + yL = Y

c2 + c�2 = yL + yH = Y

Allocation: Full risk sharing

c1 = c�1 = Y/2 and c2 = c�2 = Y/2
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Fixed cost for �nancial contracting

If
V (autarky) > V (full risk sharing)� 2F

Allocation: no risk sharing (for γ small, F big )
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Uncertainty aversion

Assume θ,θ� 2 [�K ,K ]
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Allocation: For K big enough can get full risk sharing
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